Lewvel 2 Hormer Simpsan Mame
Holding the paper vertically, plot each point an the axes and connect them in order. Do not
connect the shapes to each other,

Shape 1 -11, -5 (o, 7 Shope 12
(2, -21 {-10, -&) -2. 71 -7. -3
(3. -3) (-9, -6] (-4, &) -5 -2)

(1. -3 (-9, -9 (-5, 4) (-10. -2}
-2, -4 10, -14) &, 1)

-5, -5) {11, -143% -4, -13 Shape 13
(-6, -] 12, -15) -2 -2) 7. -5
(-6, -11] (15, -197 (0. -23 (-8, -6]
(-4, =14 (2. -11 -9, -8]
(-3, -15) Shape 2 . 1

-1, -1&7 (3 -19) Shape 14
(3. -16] (3. -163 Shape & -10, -5)
(5, -151 (5. -191 -2, 2) (-10, -47
{6, -13) -z 3 -9 -3
0r.-13 Shope 3 -3, 3 (-5, -47
(8. -121 (8. -113 -3. 2]

(3, -11) (2, -113 -2. 21 Shape 15
(11, -1} -z -10) -2 -3
z. -9 (-1, -9 Shape % f-10, -3
{1z, -3 (1. 19)

(11, -4) Shope 4 (0. 20 Shope 16
(2. -2) 2. -10) -z, 213 -10, -14)
=) -3, -11) (-5, 21) (-10, -1&)
(11, 23 (-6, 20y (11, -15)
{11, 4) Shape 5 7. 18]

g, &) (9o -7. 16 Shape 17
(2. 7] (5. 11 (-10, -18]
(e 81 4. 1) -5, -1}
== 4. 4 Shape 10

{8, 100 (==} -3, 19

r. 13} 4, &1 -4, 200

(e, 153 (&, 71 (-, 21)

4. 13) (9. 7 -7. 213

(2, 19 (-2 20

-4, 191 Shape & (10, 15}

-7. 18] (5, 21 (-10, 16

-2, 17 (8. 3 -9 15)

-1z, 14) r. 3

-13, 12} 7. 21 Shape 11

(-13. 10} (g, 21 (12, -2)

-12. 71 -1z, 3

10, -13 Shape 7 -10. -13

(-10, - 27 (3. 5 -5, 43

(11, -3) (2. &) -7.-11



